21

29

30

30

30



ng/L ng/g-dry ng/g-wet ng/m?
No.
1 LC/MS 1.9
2 |o- GC/MS 8,810
3 |o- GC/MS 20
4 LC/MS 0.22
LC/MS 56
5 10 14
LC/MS 6,700
LAS
6 (R)-4- -1- -1- GC/MS 4.4
GC/MS 2.5
7 |2- LC/MS 18,000
2-
8 GC/MS 740 EXTEND
2- -1-{[2'-(5- -4,5- 124
-3- ) -4- ] F1H- EXTEND
9 LC/MS 8,800
-7- (PPCPs)
10 2-(4- )-2- =3- GC/MS 2.7
GC/MS 7.4
EXTEND
11 LC/MS 8
(PPCPs)
3- -5-[3'( ) 1-10,11-
EXTEND
12 -5H- [bA LC/MS 0.94
(PPCPs)
6- -7- -3,4-
EXTEND
13 |[e][124]-2H- =1,1- LC/MS 680
(PPCPs)
1-(2- EXTEND
14 LC/MS 0.55
(PPCPs)
15 |3- -2- -1- GC/MS 5.6
16 |3- -2- LC/MS 5.6




ng/L ng/g-dry ng/g-wet ng/m?
No.
2-(4-{2-1(4-
17 -l ) ] } LC/MS 1,000
)-2-
EXTEND
18 GC/MS 1,000
(PPCPs)
19 LC/MS 21,000
GC/MS 11
20 |4,5- -2-n- -3-
GC/MS 0.25
5H- [bA -5-
21 LC/MS 520
3- -1- EXTEND
22 IK ) ] ] LC/MS 57
(PPCPs)
LC/MS 63
23 | N-[3-( ) ]
LC/MS 490
N,N- -1- =
10 12 14 16
24 |18 (2)-N,N- -9- -1- LC/MS 17
= (92122)-NN-
-9,12- -1- =
25 GC/MS 15
= LC/MS 21
26
LC/MS 2
27 GC/MS 0.78
28 LC/MS 2,500
1,37- -1H- -2,6(3H,7H)-
29 LC/MS 520
30 |2- GC/MS 1
GC/MS 0.14
31 | N-
GC/MS 0.022
32 | N- GC/MS 0.41
o )-> ( ) LC/MS 0.58
33 ( )=
LC/MS 0.013




ng/L ng/g-dry ng/g-wet ng/m?
No.
(M= NN= LC/MS 9.1
34 ( )
LC/MS 0.78
3 GC/MS 0.01
GC/MS 0.98
36 GC/MS 4,300
3- =3-(2,2- )-2,2- GC/MS 0.32
37
GC/MS 0.38
GC/MS 400
38 | p-tert-
LC/MS 27
N'-tert- -N- -6-(
39 GC/MS 2.3
)-1,3,5- -24-
0.2
40
LC/MS 10
100
5-( )-1H- -2- EXTEND
41 LC/MS 22
(PPCPs)
GC/MS 25
42 | n-
GC/MS 11
2-(m- ) EXTEND
43 LC/MS 16
(PPCPs)
GC/MS 0.011
44 [a]
GC/MS 0.064
( )=
1 4
10 16
45 LC/MS 100
( )=
1 4
10 16
46 2—-( ) LC/MS 1,900
-5- -4'-
(£ ( ) EXTEND
47 |=0-(2- ) LC/MS 360
(PPCPs)




ng/L ng/g-dry ng/g-wet ng/m?
No.
48 |2- -5- GC/MS 20
EXTEND
49 LC/MS 31
(PPCPs)
50 14 LC/MS 8
17 LC/MS 47




No.

N,N-

GC/MS
H23

-1,1-

LC/MS
H28




No.

1
2
3
[(3- - X
)
10 12
4 |14 16 18
(2)-{3-( -9-
) I( )
}
-1-
8 10 12 14 16
18 -
. (2
-9- -1-
(92122)- -9,12-
-1-
N,N- -1- =
10 12 14 16 18
-N.N-
6 (2
-9- -1- =
(92122)-N.N-
-9,12- -1-




No.

(T-4)-  [2~( - 1K)
-1(2H)- - (D)
7
(2- -1-
)
2,2'-
2-
( )
8
( )
14 16
9
14 16
N -tert- -N-
10 -6-( )-1,3,5-
-24-
8 18
11
8 18




No.

12

13

14

12- (-

15

18

16

16

(4-{[4-(

_2’5_

17

2-(13-

18

19

20

21

22




No.

23 173 EXTEND
EXTEND
24 1173
4,6- -N-
25 | -2-
26
27
1,7,7- -3(
221 -2-
’8 ) [22.1]
3-
4-
29
2- -4- PPCPs
30 -5-
-4
6 cx[(D- ]
31
2- -1-
32
=(B)-2--[6-(2-
—4-
33 )
] }-3-
34 |1,3-
1,35- (2,3-
35| )-135- 246
(LH3H5H)-

10




No.

36

37

11




